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If h(x) = 5x% — 6, find

Updated June 2013

116. h(4) 3 117. h(—1) : 118. h(x + 1)
. : A Ph(x+1) =5(x+1)*~
h(X) . sz'é) ': hti \ i=§(x+ 1)(x-}|(—1)—6 distributlve property
h(l-” ” 5(’—* )Z '6 X ‘(\ '1) 5( 1)2 '6 ! =5(X;+1X+1X+ 1)—-6 collect llke-terms
) ¢ =5 2 i stributive proper!
ﬂ (L‘\) - 5 (16) -(’ E r\ (( 1) h 5 I\‘L) -6 ': =5)(()§ ++10))((_:-15)—' 66 :tl)llt;:til:(e-t:rmps i
h([_}) 7"‘}! ; h\-],;'.s-;’ b o=5x*4+10x~1
If g(x) = x* + 2x + 3, find (h('” 1'1’
119. q(4) 120. q(x + 1) **CHALLENGE | 121. q(2x —3)  **CHALLENGE
‘W‘X“Z“S“ BT s IC P TR S A AP AT SF:
q () 143742040 *3 V) (et1)r 20 )4 qL243) " (23-3)2 4 212X 3)t5
q (fv 16313 e ) )f"?-‘:. (203} (203253 Jr2r-3)r 3
' | [ N /) 7 gl ' B :
q4) - 27 L ) DL LM” . “”‘i)_-jk_ﬁek—emqwx-ws
L ‘,.--4-)t y L O f ({KZX%): "{XZ'BX +4h I’ '
If g(x) = —2x + 1, find alXx)y - ”(“L’*I.*(O Y—
122. g(4) ; 124. g(—1) ' 125. Graph g(x) e 7Y 4]
3(1) -2 +1 q (X):-2%+1 ' Domain: xeR
W)z -2 (M) | o i ]
9( : ;] : J(l;«-Zw)*l | .
9(‘-{) -84l b 't S
lau )‘-va ' PRIE 5 o
~=—123. Which variable is the : "'"'_'__\_——] ; -
independent variable? E L:‘_"}'J T SR EEEEEEE
X | | i

**Use your graph in Q125 to check answers for Q122 and Q124.

If f(x) = 2x2, find

126. f(4)

flu) =2t

f(x): 2(4)°

£ 2(16) »|5(X): 32

127. Which variable is the
dependent variable?

F(x)
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128. f(—1) 129. Graph f(x) if the Domain:

: Z e
: . : xeR yr2x
i {.(X) fog ' \ =

Forl) s 201 | : -

b)) 2 (1) S jruy =

i 'g\()(.\): 2 :: ‘_ ; T WE BT
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Use the graph of h(t) to answer the following questions. E} ':
= ;
ol = d v
ot I
™=y ! ’
B s
b N

h{-6): g

N4

Use the graph of d(x) to answer the following questions. i n:s -
HHE A
""" 133. Find Zi(‘—'é.')'."""'""'""""""ié&.'i:'ih‘&'&'('é)'."""""""'""T"‘"i's's'.‘&'(x')"é"z"‘"""""""""
=3 s3] Find both values of x.

d(-3):6 d(5):10 | Y=-1 %

Y
Use the graph of f(x) to answer the following questions. e _"— s '_?__ s l;:
i A3fnans
B
i 4 |_

. 137 Find f(5).
£(-3)=9 RSN

ihere 15 NQ ¢
pomx on ine
aioph-

-

w

o

=

=

o
-
0
W
\_./
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Describing the same relation in various ways.

Below are three descriptions of the same relation.

Equation:

f(x)=x—2

Or
y=x—2

Graph: Words:
: Each element in the range is two
R X less than the element in the
: ,i[:;: domain.
L] ENEE :’-‘ LRI
AL LR =
PR

Fill in remaining two cells below for the given relation.

Equation:

GIVEN THE FUNCTION...

f(x)=3x—-1

141. Equation:

V=mX b
Wrise . 5
un - 1

\l:_§1+0—1>

143, Equa:cié‘n':

; 139. Graph: : 140. Words:
SNEEE ; § ' pach element in ine
P S {orange is ong less +nan
i e i 47D an elemens in
L HpEeRRRERER | YR dOMV0 -
E e i
s et 5
T UGIVENTHEFUNCTION.. i Words:
i e ; E , ; Ym0 rane
E : J! = E Egch eleyneny tn Nk ,,-,,«g(_?
L : i 15 doubie Qn elewthi i
| : dornain.
A o= L0
) y | H
: ] Ammn :
i A . i
_"_“? 144 Graph:_ - CWords:
i - A 3 4 )
= : | GIVEN THE FUNCTION...
\ \_E b'\ : il E
’__J:___f_' = . ] . i Each element of the range is
o |y ‘\’.’ T 1] | equivalent to the square of an
|, | R Th I e i elementin the domain.
-1 | 1 : . 5
0 | O : =.
| 1} i g |
L |L+E H- .

| . . -
The following two exampﬁes demonstrate a relationship between two quantities.
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rA-computer service technician charges a fee of $120
to assess a problem and a fee of $60 per hour to fix

the problem. If the high school network requires 12

hours of work, what will the total cost be?

Cost: C(h)’ L0Nn v120
= $120 + 12($60)
= $120 + $720
= $840

C{(12) - (0(12)+ 1O
Cl11)7 720+ 170

C ( m) ;$8u€)

This is a relationship between
time worked and cost.

> S
We could show this as (12, 840).

" \___.
@5} reate a set of data for the relation above.

120) {1.] 30} {2 ,7240) ) (5}

-~

(0,

146. Graph the data you created in the question
above.

time

w\/\j \';V\B?_?.

o Ur\j fee 21

~
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The height of a thrown object can be modeled as a
function of time (since it was thrown) by the
following equation.

h(t) = —5t? + 12.5¢ + 100

Find the height of the object 2 seconds after it has
been thrown.

Height is found by substituting 2 into the right side of
the equation.

h(2) = —5(2)% + 12.5(2) + 100
h(2) = —20 + 25 + 100
h(2) =105m

This is a relationship between height and time.

We could show this as (2, 105).

(147)-Create a set of data for the relation above.

300) .. J (1)1015)J(23105)§5)q15))
m—— (4-70),..

148. Graph the data you created in the question
above.

| .S
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Solve each problem using any strategy that works.

A computer service technician charges a fee of $120 ! The height of a thrown object can be modeled as a
to assess a problem and a fee of $60 per hour to fix function of time since thrown by the following

the problem. equation.
C(h\— LOh +170
149. If the high school network requires 7 hours

h(t) = ~5t? + 12.5t + 100

N\ EC0S () of work, what will the total cost be? ; N — how do you Know the
X NOUKS 0 : @Find the height of the object 3 seconds after
V= 60X 12 : it has been thrown.
y:60(7)+120 = y - \m g N(z): -5(3)2+12.5(3) +100
150. What are the two variables in this problem? hi3) : - 5(_‘3{) £ 11 8(3)* 100
| ; hi3): -45+ 37.5+300
X_

v

cost (%) ’

Which variable would be the “dependent "
variable?” (see pg.30) ':

156. Can you think of any values for time (¢) that
don’t make sense?

t 20 ‘K(Y\Qf}rj!,‘f:\fe VG!UQS)

/= cost (8 .
Y e : ' 157. What does time represent
152. Does the dependent variable correspondto ! domain or range?
the domain or range? ! :

N e \*‘qnge_ 5 dolmain _
: 158. Can you think of any values for height (h)
that don’t make sense?

- Do you think this problem models discrete . L ‘ .

= orr contlmilous data? Explain. : h >0 (n egotive i lue S)

|| Gl fa) © S~ = ! 7
| \ : C_LOST is ¢ hO : Cde \09 1 Is height the dependent or independent
fhe NOUL, SO theye 15 nd i bel \,Jre‘/\ variable?
0ints g
P 15\4. What is significant about the point (0,120)? E (:j\g: p en r] Q s v
1+ Pneans the technitian 77 '

o\
dgesn’t WOrK put st covne . V// Qc the graph on the previous page to
0 2 JU At con (r timate the time it takes the object to reach

Pr\SD\ s e stord! ;"\‘9 PO‘ Nt W\ ‘ //e;faxnnumhelght
of fhe graph (AdHhg on - 1 second
be (€3S fhan it).

ONUS: LCan you calculate the time it takes
the object to land?

5.9 ¢gecond$ ><
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_equarion pe?

Solve each problem using any strategy that works

161. A bike technician charges $40 for a basic ({ 164, he population of a colony of bacteria grows

tune-up and $20/h for any additional work.

hrough cell division. The doubling time for

C(h):20h 7 #0Q the population is 30 minutes. Complete the
Write an equation that relates cost (C) to table below for the growth of bacteria
time (t) for the scenario above. starting with one bacterium.

162. Create a table for the scenario above. | | P '6)
i I R T | Time 1| Number of Bacteria 1|
| Time (hours) | Cost($) E {__(minutes) | !
S S W 1 I S Lo }
S S B - T N S
L2 80 | 60 ' i
prosme S A i e A Vi i
B 300 e ]
. ‘; 120 | N 1k i
| 5 | 140 | D210 H 128 |

163. Graph the relation above. 165. Graph the relation above.

Pl - 772

At Bk K gt ket | umber
%60 Co'ét | [ | [ | R T R | | [
B e e B e e e By, Sh S S L B e 200
240 L T A (A T SR B Y Y S
S e o e S S e
220 P s L 0, o) S S B I I S S | o
FheSpaeysa e (asqyen - it Bl Sl sl nnlin s Anihadh St -
S RO e R
B i I i Rt et R S Bt R A Y |
[ T [ \ )
1!30 I I ! ! : I_‘b i ) 3 ! | 1 ' t ) ] | 150 |
iy | A M it e A S - et i Ity iy G Ay il Rl Bt B o i
160 L T S T (Y T (N S Y TR SN SO T SO S BN ] 1/
7% N T T e R A R St Sl R '
o
B e S A S S
1|2{] R A e
el el Lt e B E A R L s LA A R Gt S R s ST 100
fool v v o e e e 1]
S~ S AT S N JUG g ([N A W PN WAy Y UPU NPT S G (SR
[ [ T R R R R T T e T |
B 1NN T 0 R AT O T '
1 1 ]
€0 O | S T | : R [
B b e e B e e e B S e S ot EEE S e
.IAO -‘l' 1 ] I ] ] ] L] 1 -: ] + :- : 1 1 r ]
e o i s BT R o a
20 TR N T TR TR TS RS {N TR D SR | [ S|
=fasr--r-cp-q--q--r-SpeeEs - -eqe-y--r--r-o-=q--qerge -
N e e e e e | (0 -
1, | P e Ee e (e e MR (RN i) S e S ) RS R e p— e
2000 4102339435167 48 19 001112010314 15 1617 3 <
177 L it i ot i) e (i i i i i Wi i it et i i i 4 N = d N
' L T T T O T L A A SO TR N S S o 50 Ton 160 200 rlimo

166. What numbers are acceptable values for the
horizontal axis (domain) of the graph above?
(Think about what numbers would not make
sense.)

negative valyes wovld i1of

X Ay posmw val ves
would e aclepiobie

%gj%so-%;>
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167. Going to the movies. The cost of going to the movies for a group of grade 10 students is

represented by the equation € = 10.5n.

N
_{@) ) What is a reasonable range for this
function?

11- 210

b) What is the dependent variable? ;

C

Write the equation using function
notation.

£(N) = 105(n)

* c(n

):1085n

168. Driving Distance. ]] leaves Nanaimo driving north. At the time he left, he was 105 km from
home. The following graph represents the relationship between distance from home and

elapsed driving time.

dist

The equation for the relation
d(t) = 50t + 100.

500

a) Explain why the function is called d(t).

hecause the ynuﬂm«s;hmﬁ hg
+he relationship betetn 250
distance (d) ond 4ime ().
/ b))% Suggest areasonable domam for the functlon
d(t). \ ;

c) Find d(3).
ad 3) =

d) Why is the graph a line and not a series of dots?

b/c he can

1]

I ND ARP;C)\)\)‘
co(3)+100 <* d(3‘~!50f700 b [ﬁ 23 -

4 5 time

————

Cohtiny

drlve between hours ond he drive

0y l‘\l .
3 J

—b '& bOJT\/} ) dui ronce (}vi‘/\d iivve
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169. Halloween dance. Student’s Council plans on hiring DJj-Jae-Sun for this year’s Halloween
dance. Jae-Sun appreciates what he remembers of math functions and sends the council the
following pricing information.

C(n) = 2000 + 17.50n

a) Explain what you think the equation b) What would be a reasonable domain at
above means. ' your school?
(

The cost (o) is 82000 | -
gor hircoming oand P VIAS 1 2,3, X ¢ W

S0t X e Wy
¥17.50 for everg hour- T D{0LN2Y,neWd &

c) What is a reasonable range for your ; d) What does the range represent?
school? cost (¢ )
R % 2000£C > 2_'0 70 C ¢ W%. e) Is this the dependent or independent
‘ ) : .
: variable?
| jependent

170. Wedding banquet. Lin-Karen is planning her dream wedding. Catering costs are a function
of the number of people that attend the wedding. A high end caterer quoted Lin-Karen a
set-up cost of 1500 dollars plus 75 dollars per guest.

a) Write the cost as a function of the b) Isthis Discrete
number of guests using function | or Continuous data?
notation. '

c(n) = 1500+ 75p discrete

c) Graph the relation above using a reasonable domain. Use a ruler to mark your axes.
Label your axes with “Number of Guests” on the horizontal axis.

30000
18000 e
16000 =
4000 ~ -
27 000 —
2.0 QR0 — °
1B000
16000 - °
14000 —
11000 -
10000 ~
2000 = "
Bool -
4000 A .
2000 7
Q . 1 [ I B ] | >

O 150 100 150 200 250 300 350

fal
of

number of quests
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General relations

When considering some relationships, it is solely the pattern or trend that we are interested in.

Can you visualize a graph for the following relationships?

#1=e  The height above the ground of a passenger on a Ferris Wheel as a function of time.
#72:-e The number of cars in a parking lot as a function of the time of day.
#3:-eo  Temperature of a cup of coffee as a function of time since it was poured.
#4-o The cost of mailing a package as a function of its mass.
# 5=  The height of a football as a function of time since it was kicked.

Match each of the following with an example from above. Then describe below why you made that choice.

N I A —N >

HH ;; N = HEES
5\ \ _f.. = T : “\._

N ISiiE ]f - ..i___ N ! i

v J /

"3 %G #7

b/C femp. Y/C pall blc it yaries

goes gom goes fiow tNOUghaut the day

nigi 10 tow = Mo dlog

Youl an
enEhiuony levels qud /

STOYS {ne S0Te wiheh 1t reaches
Some notes here possibly... (OO0 42 ny P

" Answer the questions associated with each graph.
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171. Describe a relationship
that could be represented

by the graph below.
i
/;
)"{
7 gm) V
Distance frayeiied
(}"4'\(‘1 "'. 1|%1"‘~“-‘_Q‘ Lh)
0 0 d _
____ SR

The graph above represents
the height of a kicked ball as a
function of time. Why is the
graph not symmetrical?

n/c the kickooit
startS 1n ine

it
fhe Qou nd by

i o R T e

ongl nar o’

172. Describe a relationship
that could be represented

by the graph below.
cost of &

sechnician  and

rime wWorked.

(fixed cQst + fiimie

Jumrx@d)

____ > @Describe arelationship
that could be represented

by the graph below.

I

& rise and fqq
Of
price oveyr

A

vowds on the  grovhd.

P age 40 |Relations

SToCK

e &K

173.

Above is a graph of the
temperature inside an
oven set to 425°C. Why
does the graph fluctuate?

bic ppl could opewn
e guen doar, i (h
would drop the femp-

Explain why this graph of
postage rates appears
stepped.

/c the postagQ
(a¥e  {or o Mass
Fromy ceriain
WRIGhTS 15 tha_

s e
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@A hot cup of coffee was left on the table to : »@To hire a plumber to fix his drain, Mr. ] had to pay
cool. Graph the data below. an initial “call-out” fee of $60 then he had to pay -

the plumber $45 per hour. Graph the Costasa

function of Time in hours for this service.

..............................................................

........................

230 i
240

220
220 -

T b - = e

Tewp (°C)

B ammnn ey xR M S

11 ]
B 0 I (R R UL LR RV TR R R A A LR TN
Time (min)

v

<k On answer Key-
no linet? ¥
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Answers:

1. Answers may vary.
Possible relations:
Age and height, cost and time, wage and hours,

(27 years, 180 cm),

(9 years, 110 cm)

(0.6 years, 55 cm)

Their order is important.
Height and Arm Span.

o

oo

o R R B0 e 200
bbbt dwrf - LEotHelght )

Points appear to resemble a line.

Check with a classmate or teacher.

y-axis

x-axis

10. Graph on left includes negative
coordinates,

11. Graphs of data where negatives are
not included. (eg. Distance vs. Time)

12. Graphs of data where negatives are
appropriate. (eg. Altitudes, temperatures)

13. Two units right and five units up of
the origin (middle).

14.

0O N R

ol e
k] AL [1aitk
)
S i s R
o6 6 4 2 le 2l 4 A E 10
b=l =2 b 1l =1
& = |
) | |

P a g e 42 |Relations
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15,

16.

4
2
o
L =2
2

st i

17. Same as Q15. All input values “make sense”
mathematically.

18. Same as Q16. Any value of ‘X’ less than -2 will
make the equation {function) undefined over
the set of real numbers.

19. The graph will have breaks or stopping points
where values are not permitted.

20.

Copyright Mathbeacon.com. Use with permission. Do not use after June 2014
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21. 27,
: 28. No negative values can be contained in the
e 5 i range.
-bebetyebarti® R 29. No negative values can be contained in the
22.  —2,5. Anyreal value is a possible element of range.
the domain. 30.
23. —7,1. Any real value is a possible element of
the range.
24,
25.

26.

. Do not use after June 2014
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34,

35.

i Lo 1 | |
[~ [ = )|

il ~l i (I
36. Domain: {1,2,3,4}, Range: {1,4,9,16}
or{x]1,2,3,4},{y|1,4,9,16}
37. aandd (
38. {x|-2,358} ¢~
39. {yI3} .':" fbf =4
40. {x|-1,0,1,2,3}
41, {x = 0,x € R} The domain is the real
numbers greater than or equal to zero.
42, Infinite
43. 0
44, There is not a largest value. Infinity.
45, Infinite
46. 2
47. There is not a largest value. Infinity.
48, (00, ), (o0, )
49, {x|x = —4,xeR}, {yly = 1,yeR}
50.
X:

= -2l gd 5‘,~ |

b

P a g e 44 |Relations

51.

52.
53,
54.

55.

56.

5.
58.
59.
60.

61.
62.
63.

64.
65.
66.
67.

68.

Updated June 2013

The domain consists of all real numbers from -
6 to 5 inclusive,

The range consists of all real numbers from -1
to 2 inclusive.

{x| -5 < x <7,xeR}, {yly = 4}

(00, ), (0, 00)

Find the upper and lower limits. Separate
them with a comma. Use a square bracket if
the limit is included, a curved bracket if it is
not.

Plot the limit(s) on a number line with a solid
dot if included or hollow dot if excluded. Draw
an arrow/line in the appropriate direction
(unless the data is only a point or points).

Find the limit(s). Choose the correct symbol,
<, <,>,2,#+. Fill out the inequality using one
of the following as a guide:

xXz___

__Sx=s___

A4 B5 C3 D6 E1F.2

{xeR}, {yeR}

[_7'6]7 [_517]

X:

{x| -5<x<8,xeR},{y| -3 <y <5, yeR}
(_6' 00)' (00, 3)
X:

2 10 8 £ 4 -2 0 2 4 Li] 8 10 12

{XIZ}, {}’I—?’. —11 1! 3}
{x]-7,-5,-3,6},{y|—4,5,7}
(_8'9)! [_5'7)

)

i
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76.

69.

: e = ; : e : )
! 7 - = e - = i 2 _
-4 S L2 - : : = fendor o S
P . - b 1 o =t gl =
P ot 2 £ — O
3 - i D St . : g
B i : 1]
2 : - 1 i : i o B E
ST ; i _ s Fi x e =
- L2 i i ¥ . H ) 3 Bk al § h]
i A = = SRR T e B B o o G B £l E RS L TR i L RE L.
I o e o s T = t | o [ | | e 50 o P . m
e PR e S " e : : &
T ¥ A i e _ peaih ] | il : ) N
: ~ : fdig H . L i o
o . gl 7}
O . [ N B8] . : v M
oH o i 2 b ) 1 i i ¢ I I M
Ch SEETTY 37 w1 il 1
=i 4 - T ¥ T ;o & * N =
% e : > ez e ot 2 S
T " L 21 et oo L} &5
N o o =1 — o
~ o~ I~ @ [= =] [ee)
3 x ——_ i
.. i . El 2 o 1
- : - F3 T i3 = 3
=, a 7\ L 3 <1 |
M L. [ M i { 15t v
a, = o ] - =1 1 I
15 B 1 . 3 P i i LT i s
e it M B L5 o N i - B
o il oy 0 8 T i bt : :
- B ) by S : = 2k !
L ¥ | Er ¥ = - Wow e e o e -~ e = = — - H
- i e £ P O 55 = ;m.“._ = i L :
% = 32 H 5 = -
2 5 . :} | = | ,“ ol .“.
- s gt 3 i Ot o fdiafait i
3 - w | " | i 2 — o 1 z
— it x b 2 % o . = |
! & _ i P 4 [ 4] Lol
T = 1 : LA : T i b
— : }
—
B~

70.

72.

73.

74.

75.

83. {x| xeR} or [oo, 0]

Copyright Mathbeacon.com. Use with permission. Do not use after June 2014
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84.
85.
86.
87.
88.

89,

90.
91.

92.
93.

94.
95.

96.

97.

98.

99.

100.
101.
102.
103.
104.
105.
106.
107.
108.
109.

110.
111.

Page

x = 2 or [2,0) or All real numbers greater
than or equal to 2.

{x| xeR} or (o0, ) or All real numbers.
{y]yeR} or (o0, ) or All real numbers,

y = 0 or [0, ) or All real numbers greater
than or equal to 0.

{y| y = 0} or ([0, =) or Real numbers greater
than zero.

A AN I S (5 W e o 8 ) e il ) ) 6 1R AL 1

! H R | i
VI Ll il
{x|2,3,4,5,6,7,8,9},{y120,30,40,50,60,70,80,90}
The space between points represents
“fractions of people” and the corresponding
cost. The domain is limited to whole numbers
in this case.

The temp. of the coffee will cool until it
reaches room temperature.

a) Several (3 or 4) hours.

b) Continuous

a}{n|0 <n <75,neW} b)discrete

a) Time

b) Continuous

c) Continuous

d) An human’s height would range from about
45 cm to about 200cm. There are exceptions of
course!

Cost is a function of number of bars. Discrete
data.

Earnings are a function of hours worked.
Discrete data.

Yes. Each x-value has only one corresponding
y-value.

Yes. Each x-value has only one corresponding
y-value.

No. There are two possible outputs when x is
3k

No. The + indicates that each input, except
zero, will have two outputs.

Yes. Each x-value has only one corresponding
y-value.

No. There are two possible outputs when x is
=3

No.

No.

Yes.

Yes. Each input value (x) will produce only one
output value (y).

Yes. Each input value (x) will produce only one
output value ().

No. There will be two outputs (one positive,
one negative) for each input. Except when the
input is zero.

14

—-11

46 |Relations

112.
113.
114.
115.
116.
117.
118.
119.
120.
121.
122.
123.
124.
125.

126.

127,

128.

129.

136.
137.

138.
139.

140.

Updated june 2013

5x —-21

4

—6

2x —6

74

-1
5x2+10x—1
27
x2+4x+6
4x2 —-8x +6
-7

x is independent.
3

32
f(x) which has replaced y.
2

O DA Ao e e e
HE

9

Not possible. 5 is not an element of the domain
in this function.

x=7

Each element in the range is one less than
triple an element in the domain.

Copyright Mathbeacon.com. Use with permissioh. Do not use after June 2014
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141. f(x) = 2x

142. Each element in the range is double an
element in the domain.

143. f(x) = x?

144.

.
t
i

Ltk

o o

aihasdl
P

T
.
’
v
)
'
R
¥
'

deediieolan

i
e W5 M L M b e

— ]

1

S

H

[l

H

1

i

[

B o e e
'
Ja DY
L
'
i o S
X i
/
[
L
L=
¥or
[
Vo4

3
[
TE

T3]

: 2
B Sttt ST P GRS S S O U S R
R T A T T

S s oete S

—-ped

145. (1,180), (2,240), (3,300), (4,360), (5,420), ...
146,

o T [ B v ) e e o

T

L
147. (1,10
148,

-

e

g

R b

| ingi

Pa| 100

el

Eoi L it 1 it

149. $540

150. C: total cost
h: hours worked

151. Cost (C)

152. Range

153. Explain your answer,

154. The technician has not performed any hours of
repair work but there is still a cost of $120.

155. 92.5 m

156. Negative values.

157. Domain

158. Negative values (unless the object thrown can
fall below the height that we have called
height zero. For example, it may land in a hole
or crevace.

159. Dependant

160. Approximately 1.5 seconds.

161. € = 40 + 20h or
C(h) = 20h + 40.

P a g e 47 |Relations

Updated June 2013

2.
i Time (hours) | Cost (§) !
L o I L
i 1 l 60 i
R A, "o |
R e i ]
N 3 100 ;
; 4 i 120
! 5 ! 140
163,
%;".
=l
3w
&l
..
ol
el
k! :
Ia: 9.51,5,1 A J:¢ 20 IE{._-,! :1 19 ‘.‘.;iﬂ 'll.éj‘l:-ﬂ%lﬁ_’

166.
167.

168.

169.

170.

W ® o® o wo il g (Tl

Real numbers greater than or equal to zero.
a)

{€110.5,21,31.5,42,52.5,63,73.5,84,94.5, 105}
b) C, cost.

c)C(n) =10.5n

a) The function is called d(t) beacure
“distance” is a function of “time”.

b) Real numbers between 0 and 5 inclusive.
c) 250

d) This data is a line because both distance
and time are continuous (no gaps).

a) C(n) = 2000+ 17.50n

The DJ charges is a $2000 fixed cost in
addition to $17.50 per hour or possibly per
student. Itis not clear what n represents. I will
work assuming n represents hours.

b) eg. {n|0 < n < 4,neW}

c) eg. {€]2000,2017.50,3035,2052.50, 2070}
d) Cost of the DJ.

e) Dependent

a) C(n) = 1500+ 75n

b) Discrete

Copyright Mathbeacon.com. Use with permission. Do not use after June 2014
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9500 | Cost

) Huinber,
Sfo 0 20 s 40 s 0 7o 60 %9 100 g

171. Many answers. Eg. Wage ($/hr)

172, Many answers. Eg. Cost to hire a taxi.

173. The heating element must turn on and off to
maintain an approximately constant
temperature.

174. The ball is kicked from a height above zero
(ground).

175. The rise and fall of a stock’s price over time.

176. Each line on the graph represents a range of
masses. There is not a different price for every
possible mass. For example, it currently costs
$0.64 to send any letter under 30g from one
part of Victoria, B.C. to another.

177.

e

sl | |

|
Bdﬁ.'[%ll‘l.ﬁkmlb!e - = =

70

60 = ==

50

J0

| 30

20

10

0 TIME fmirputes)

178.

pe it

P a g e 48 |Relations Copyright Mathbeacon.com. Use with permission. Do not use after June 2014



